TaeguTec Parting & Grooving Line °
20224 128

www.taegutec.co.kr

1/5

QUADLCUSH

PARTING & GROOVING

AHE I=MAUFY 715§

42 = 233 33

ADURNCESCUTTING

TaeguTec




2/5

www.taegutec.co.kr

20224 12

(o)
=
—
o
=
>
(@)
o
o
S
o3
o))
=
=
©
o
?
T
>
o)
8
T

(7]
=
()]
P
]
(&)
=}
©
o
S
o
=
()]
P

KEY POINT

CHT*E!2 Quad—-Rush 2F210f|

Quad-Rush MZ=0i| A

Z10/15/20mmZ

al
=

8 84

|

LI = DAZ0| Chrelg S5 A

=3
od

= HIZ5H0d ALZ 7t

Ql
=

t

of 2HIE MZ sl Al &

OHHA = 2

LICt,

hedoll 2A| 7[04 gt

)él;l)l\_})ck;l SFAF

o gl

o431 EHY
®10/15/20mm

LIREN|

(Cool-Burst) 26 28

S
S

® 20x20 / 25x25mm 1 27

(Cool Burst)

oF 3OS
SR

TaeguTec

TaeguTec




20224 128
TaeguTec Parting & Grooving Line www.taegutec.co.kr
New Product News 3/5

O A3z HA
@ T A320] s mo| 5

O 5=t ZHE LMs}

SCUTTING @ TaeguTec




20224 12

TaeguTec Parting & Grooving Line S

New Product News

TQHR/L...EW-TB

434 H2 E AMEE

=2 o
e = o

UE

Fig2  oz+

CNT
(AR &7
G1/8
G1/8
G1/8
G1/8
G1/8
G1/8

OIME

H(HF)
20

HBH HBKW
13 -

20 13 -

20 13

25 . 8

25 . 8

25 . 8

TQHR/L 20-27-10EW-TB
20-27-15EW-TB
20-27-20EW-TB
25-27-10EW-TB
25-27-15EW-TB
25-27-20EW-TB

TQBS 27-10EW
TQBS 27-15EW
TQBS 27-20EW
TQBS 27-10EW
TQBS 27-15EW
TQBS 27-20EW

-
=g

&

AOIE ATE

/

==

=

/S

TQHR/L 20..

-10EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X16-D7

PLG G1/8-

L6.5

T15

L-W2.5

TQHR/L 20..

.15EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X20-D7

PLG G1/8-

L6.5

T15

L-W2.5

TQHR/L 20..

-20EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X23-D7

PLG G1/8-

L6.5

T15

L-W2.5

TQHR/L 25..

-10EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X16-D7

T15

L-W2.5

TQHR/L 25..

J15EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X20-D7

T15

L-W2.5

TQHR/L 25..

.20EW-TB

PIN-TQ-W-T

TS 40F120A

BH M4X0.7X23-D7

T15

L-W2.5

ADVANCESCUTTING

TaeguTec

@ Tacqurec




20224 128
TaeguTec Parting & Grooving Line www.taegutec.co.kr
New Product News 5/5

CUTDIA
CDX<30 CDX<35 CDX<40 CDX<45 CDX<50 CDX<55 CDX<57 CDX<60 CDX<62 CDX<64
TQBS 27-10EW N.L. 600 280 180 135 105 95 85 78 55
27-15EW N.L. 600 280 180 135 105 95 85 78 55
27-20EW NL. 600 280 180 135 105 95 8 78 55

» N.L.: HBRIS o HEHE

nDURNC@CUTTING @ Taegutec

TaeguTec




